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Starter
Read these statements and have a go at the question.
1. We know that an inferior good is a good whose demand decreases when consumer income increases
2. We also know that a normal good (necessity good) is any good for which demand increases when income increases
3. We also know that a luxury good is a good for which demand increases more than proportionally as income rises
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Define Income Elasticity of Demand here:
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

[image: ]Normal goods
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
[image: ]Inferior goods
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

ED formula, write that in here:








% change in price or quantity demanded formula, write that in here:








Interpretation of numerical values

	Inferior
	Normal
	Luxury

	
	
	

	
	
	




Example YED Calculations
	Question 1: Calculate YED if demand has increased from 20,000 units to 25,000 units following an average income increase of 15%.













	Question 2: Calculate YED if demand has increased from 52,476 units to 702,003 units following an average income increase of 4%.












	Question 3: Calculate YED if demand has increased from 6,438 units to 6,489 units following an average income increase of 12%.















	
	Question 1
	Question 2
	Question 3

	Your answers
	
	
	

	YED negative or positive?
	
	
	

	Inferior or normal good?
	
	
	


The factors influencing income elasticity of demand
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Expectations of changes of income
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The significance of income elasticity of demand to businesses
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Approved Food

Entrepreneur Dan Cluderay, started his business, Approved Food, on a market stall and it
has now expanded to be the largest online retailer of food and drinks that are near their
use-by date.

In 2013 Approved Food's turnover reached £4 million and its 50 employees were
shipping out more than 2 000 orders each week from its 60 000 sq ft warehouse in
Sheffield. Dan's business objective is to save shoppers 60-70% on each order.

The rise of Approved Food coincides with a growing awareness that our obsession with
use-by dates is resulting in more than a million tonnes of food waste a year.

This week, a government advisory body called the Waste & Resources Action Programme
(WRAP), reported that supermarkets were being “overly cautious” with their
use-by labelling.

It estimated that shoppers could save £600 million a year - about £25 per household - if
they were given an extra day to eat products such as fruit, vegetables and fresh meat.

Approved Food does ot sell chilled or frozen goods, it only sells packaged products
such as rice, chocolate, crisps and toiletries.

(Source: adapted from www.express.co.uk/life-style/life/561869/Approved-
Food-Dan-Cluderay-fortune-selling-food-past-best-before-date)
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The Office for National Statistics stated that incomes fell by 2.2% in 2014.

(c) Using the data in Extract B, calculate the income elasticity of demand for
Approved Food, following an increase in weekly orders to 3,500 in 2014. You are
advised to show your working.
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Explain how a business, such as Approved Food, might use income elasticity of
demand data.
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Extract A

Takeaway consumption and median income in the UK

Average number of takeaway

Median annual income for
meals consumed per year,

full-time employees

per person
2013 140 £27 000
2014 144 £27 195

(Sources: adapted from © Crown copyright, © 2017 RetailMeNot
UK Limited and © Associated Newspapers Ltd)
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(a) Using the data in Extract A, calculate, to 2 decimal places, the income elasticity of
demand for takeaway meals. You are advised to show your working.
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